

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

 08/07/2024
 09:00 AM | Day 1-Drive and Install
 PO:

 08/08/2024
 09:00 AM | Day 2- Ballroom and Foyer
 Shippi Rosew

 08/09/2024
 09:00 AM | Day 3- Bocce
 Installation - Ballroom and othe

 08/10/2024
 09:00 AM | Day 4 -WEDDING
 DAY

 08/10/2024
 04:00 PM | Stand By
 08/11/2024

 08/12/2024
 04:00 PM | Sunday Strike
 08/12/2024

PO: Shipping Address: Rosewood Miramar

## IN-0007232

KED & Co.

Invoice Date: Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Rehersal Dinner					
	Bars - Bora Bora - Wood & Rattan 8'	2	\$1,029.60	Т	\$2,059.20
	8'w x 12"L x 44"H - Custom Frame color & Inserts upon request				
	Barback - Bora Bora - Gold (3 Piece Set)	2	\$216.45	Т	\$432.90
	66"W x 14"L x 85"H(Center- 34"W x 14"D x 85"H / Each Lateral 15 1/2"W x 14"D x 85"H)				
	Mix and mamtch Pillows	10	\$29.25	Т	\$292.50
	Drape Stock Waiting On Final Confirmation 10x10'H to enclose cabanas	22	\$222.30	Т	\$4,890.60
		То	otal Rehersal Din	ner	\$7,675.20
Cocktail					
	Barback - Boston - Round W/ Plexiglass Tier Shelves	1	\$351.00	Т	\$351.00
	4'2"D x 7'2"H - Color Upon Request				
	Custom Made Plantern Boxes	8	\$585.00	Т	\$4,680.00
	4'5" x 4'5" x 2'5"H Matching the Bar Front				
	Mix and match Pillows	25	\$29.25	Т	\$731.25
	Monogram Pillows	4	\$105.30	Т	\$421.20
	Custom 20' Diam Bar- Desing TBD	1	\$7,605.00	Т	\$7,605.00
	Garden Club & Lounge Chairs - Shakespeare Garden - Metal	7	\$257.40	Т	\$1,801.80
a second	Metal in Black				
	24"W x 28"L x 36â 🛛 H				
	New Garden Club Chair - Shakespeare Garden - Metal Metal in Black	1	\$257.40	Т	\$257.40

Description		Qtty	Price		Total
	Custom Made Cushions Cushion for Shakespeare Club Chair Ivory linen with Blue Piping Back and Cushion	8	\$177.84	Т	\$1,422.72
	Garden Sofas - Shakespeare Garden - Metal Metal in Black 79"W x 33"L x 31⤠¤ H	4	\$585.00	Т	\$2,340.00
	Garden Dining Chair - Giardino Dell' Iris - Chair Painted in Black 23"W x 22"L x 41"H - Custom Frame & Cushion Color Upon Request	45	\$31.59	Т	\$1,421.5
	Custom Made Cushions For Giardino Dell' Iris Chair Ivory Linen W/ Blue Piping	45	\$35.10	Т	\$1,579.50
	Coffee Tables - Round - Multicolor In Black 48"round x19"h	4	\$292.50	Т	\$1,170.00
	Ottomans - Standard Pod Blue Covers IN stock 18"RND x 17"H - Cover Color Upon Request	8	\$35.10	Т	\$280.80
			Total Cock	tail	\$24,062.22
Foyer					
	Club & Lounge Chairs - Chicago - White Boucle 36"W x 33"D x 27"H	4	\$269.10	Т	\$1,076.40
	Accent Tables - Chrome Ribbed Leg W/mirror Top 17"W x 17"D x 24"H	2	\$140.40	Т	\$280.80
	Small Dining Tables - Las Vegas - Mirror Top Round 48" With White Base 48"Diam x 30"H	1	\$234.00	Т	\$234.00
	White Sheer With Backing aprox 650' x 10 ' to 12'H	1	\$13,689.00	Т	\$13,689.00
	Valance in White Apro 400'	1	\$2,106.00	Т	\$2,106.00
			Total Foyer		\$17,386.20
Ballroom					
	Panels - Flat Arched Alcove Painted High Gloss White - With Mercury Glass Filling 8'W x 10'H	3	\$877.50	Т	\$2,632.50
	Barback - Curved Alcoves W/ Shelves - 3 Arches	1	\$5,265.00	т	\$5,265.00

Description		Qtty	Price		Total
	Bars - New York - Curved Painted Pure White High Gloss 11'W x 3'L x 43"H	2	\$1,140.75	Т	\$2,281.50
	Custom Made White channel front 1 Front and 1 side per bar	2	\$2,106.00	Т	\$4,212.00
	Bars - New York - Folding 8' Painted in Pure white High Gloss 8'W x 30"L x 42"H - Color Change Upon Request	1	\$1,053.00	Т	\$1,053.00
	Custom Made3 White Channel Front 8	1	\$1,053.00	Т	\$1,053.00
	Dining Chairs - Vancouver - Chrome Frame 20"W x 21"L x 37"H - Back & Seat Cushion Cover Color Upon Request	210	\$23.40	Т	\$4,914.00
	Dining Chairs - Buenos Aires - Chrome 20"W x 22"L x 39"H - Back & Seat Cushion Cover Color Upon Request	50	\$23.40	Т	\$1,170.00
	Custom Made Cushions in Blue TBD for Vancouver and Buenos Aires Dining chairs	260	\$52.65	Т	\$13,689.00
	Sofas - Segovia - White W/ Brass Base Covering the Base in white 96"W x 40"L x 28"H	2	\$468.00	Т	\$936.00
6	Club & Lounge Chairs - Segovia - Accent Chair White Covering the base in white 42"W X 40"L X 28"H	4	\$304.20	Т	\$1,216.80
	Ottomans - S- Curve Velvet - White 19.3"W x 18.1"D x 18.1"H	4	\$58.50	Т	\$234.00
P	Coffee Tables - Chrome Ribbed Leg W/ Mirror Top 43.5"W x 23.75"D x 20"H	2	\$234.00	Т	\$468.00
			Total Ballroon		\$39,124.80
Draping For Ball	room				
TANK IN	Custom White Suede Valance with Blue Details 220' x 12"H	1	\$1,872.00	Т	\$1,872.00
	Custom White suede valance 210 x 2'H	1	\$1,170.00	Т	\$1,170.00
	New White Suede #126 _ Walls Pleated 1/2 Aprox 150 x 18'7"H	1	\$16,005.60	Т	\$16,005.60
	New White Suede #126- Wall Pleated 1/2 Aprox 220'x 11'H for lower area If we are using something in stock, we are looking at a cost of \$3500	1	\$11,793.60	Т	\$11,793.60

Description		Qtty	Price		Total
	Custom Made Stage Austrian Drape 6'x 18'H in suede White	5	\$4,095.00	Т	\$20,475.00
	Custom Made Fabric For Stage Fabric TBD 1-Main Drape to Be placed on Front of stage 40'x 15'H 2- 4 Smaller pullbacks to Create Depth on stage 10x 15' H	1	\$5,850.00	Т	\$5,850.00
		Total D	raping For Ballro	om	\$57,166.20
Extra For Ballro	om				
	Custom Made Panels For stage 1'3" Wide x 12'5H Painted in TBD	4	\$936.00	Т	\$3,744.00
	Custom Made Panels for Stage 2'6" W x 12'5"H With Moulding Painted in TBd	2	\$1,404.00	Т	\$2,808.00
	Stage Lights	10	\$292.50	Т	\$2,925.00
	Crystal Wall sconces	16	\$466.83	Т	\$7,469.28
	Dj Booths - Berlin - Multi Mirror Large 63"W x 38"L x 40"H	1	\$585.00	Т	\$585.00
	145' x 32" H Wood Facede for Truss White With Detailing Molding	1	\$14,040.00	Т	\$14,040.00
	Custom Made Columns for stage 2- Front leg with Mirror and molding details	2	\$1,755.00	Т	\$3,510.00
	La Vegas. Cake table 48" all white this Casters to be able to move	1	\$292.50	Т	\$292.50
	Custom Payette Panels in Silver For Behind stage Aprox 6'x15'H	5	\$2,574.00	Т	\$12,870.00
	Kabuki & Traveler Systems	1	\$4,095.00	Т	\$4,095.00
		Total Extra For Ballroom		om	\$52,338.78
Services					
	Install Day 1 Wednesday- Drive to Santa Barbara and Install	12	\$650.00		\$7,800.00
	Install Day 2 Thursday- Ballroom And foyer	12	\$600.00		\$7,200.00
	Install Day 3 Friday - Welcome if need it - Ballroom Cocktail Drop ?	12	\$600.00		\$7,200.00
	Saturday Day 4 - Event day Final touches and Cocktail	8	\$600.00		\$4,800.00
	Stand by Saturday	4	\$600.00		\$2,400.00
	Sunday Strike	12	\$600.00		\$7,200.00
	Drive back to LA Monday AM	12	\$250.00		\$3,000.00
	Perdiem For Crew	14	\$444.00		\$6,216.00

Description		Qtty	Price		Total
	Manager on site -	1	\$5,000.00		\$5,000.00
	transportation	6	\$750.00	Т	\$4,500.00
	Hotel For Crew- Price is an estimate till booking time and Confirmation	7	\$1,700.00	Т	\$11,900.00

Please make checks payable to Revelry, Inc.	Total Products:	\$197,753.40
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:	\$67,216.00
Please ready the contract and sign it	Wear & Tear (4.00%):	\$7,910.14
	Packing (3.00%):	\$5,932.60
Notes	Taxes :	\$20,344.57
	Discounts:	(\$0.00)
	Total:	\$299,156.71
	Payments:	(\$0.00)
	Balance:	\$299,156.71